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/1 ADEDHE

import java.io.*;

class Sample7_1
{

public static void main(String[] args) throws IOException
{
/] F—M—EADDES
Buﬁcer‘edReader br;
br = new BufferedReader(new InputStreamReader(System.in));

/1l F=IR—=FAD
System.out.printIn("EBHEADLTIZEEL), ");
int i;

nteger.parseInt(br.readLine());

switch(i) // Z# i [CRDMIBEDE
/L//?/\? v
ease 1 // i1 DEE,
System.out.println("1 AAADSINFEUE, ");
break; A
Scase 2: // i 2DES,
System.out.println("2 AAHSNELE. ");
break; ———r
Fdefault: // i A1 TE2 TERINES,
System.out.println("1 D2 ZEAH LT EEL), ");
break;
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char c="b';
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break;

case »Bv:
System
break;
default: /

break;
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public static void main(String[] args)

switch(c) // Z# c ICKDIEZEDIL

/] ch'a'DEE,

.out.println("a TY™");

1} Vb DESE,

.out.println("b TY");

/ ch'a' TE'b' TERNEE,

System.out.println("a CEb TEHDFIEA");
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class Sample7_3

{
public static void main(String[] args)
{
System.out.println("!true = "+ (!true));
System.out.println("!false = " + (!false));
System.out.println("true && true = "+ (true && true));
System.out.println("true & false = "+ (true && false));
System.out.println("false & true = "+ (false && true));
System.out.println("false && false = "+ (false && false));
System.out.println("true || true = "+ (true || true));
System.out.println("true || false = "+ (true || false));
System.out.printin("false || true = "+ (false || true));
System.out.println("false || false = "+ (false || false));
}
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Itrue = false

Ifalse = true

true && true = true
true && false = false
false && true = false
false && false = false

true || true = true
true || false = true
false || true = true

false || false = false

o
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import java.io.*;
(1) K - heFomE 2 h
class Sample7_4 import java.io.*;
{
public static void main(String[] args) throws IOException \ KL class Ext7_1

=M - Ny
{ #-9 e {
/] F—Mm— R ADOER m public static void main(String[] args) throws IOException
BufferedReader br; X'}, Al {
3

br = new BufferedReader(new InputStreamReader(System.in)); /! /! F—IR—FADD%E

\ \OO O BufferedReader br;

br = new BufferedReader(new InputStreamReader(System.in));

System.out.print1n<'-aamtla%'|$f3m@v DN BEAD LT ES, )5

/1 F—R—RDS5 1 XFEAD & System.out.println("BHBERBIETTH¥AY DN EADLTES, ");
char‘ G br r‘eadLlne() charAt(0); <£— %{

Jkl> 7 /=
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/] F=IR—FD51XFZEAN
char ¢ = br.readLine().charAt(0);

FIntln (" BREIBETTA, *); —sg 30
else \ \ <\ —_-’_ switch(c) 60\97 "\’%/%
( ey AP et W//‘\ éﬂ
if(c == 'N' || c == 'n') // NEEEn EE, ' ’L

Scase 'Y ~
= case 'y': // Y:f/;l‘otyODCESW ﬁ?\

System.out-printin("HEEEFLZHETIRA, );
System out . println("%. aafsxrl;%ifft% s

else

System.out.println("Y DN ZEZADLTIES0N ");

g break;
T;case "N
} @ j iycase 'n': // NFEEEn &
L5 _LXFANEHDF TR AN v/ " System.out.pmntan(;mM@*
/] F——FEDSXFINEAD a ‘ break;

String str = br.readLine();
SeEe “7default:
/1 F—Th— FDSEMEAT System.out.println("Y DN ZEAADLTLIZEN,

int i = IntegerparseInt(br.readLine());

/1 F—i— EDSRMEAN L ——
double d = Double.parseDouble(br.readLine()); } 1

/1l F—M—RDE—FEAN \} %

char ¢ = br.readLine().charAt(8);
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class Sample7_5
{
public static void main(String[] args)
{ —_—
System.out.ﬁintln(‘ AONIZEYL +str+"TY, ");
};
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